Worksheet Maths 3™ ESO

FUNCTIONS

1.  The graph shows a return journey by car from Leeds to Scarborough.
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a) How far is it from Leeds to York?
b) How far is it from York to Scarborough?
c) At which two places does the car stop?
d) How long does the car stop at Scarborough?
e) When does the car

e arrive in York?

e arrive back in Leeds?
f) What is the speed of the car

e from Leeds to York?

e from York to Scarborough?

e from Scarborough to Leeds?

2. Solve by graphing and using another method the simultaneous equation.
X-y=2
3x+y=2

3. Find the equation of the line which
a) passes through (0,7) at a slope of 3
b) passes through (2,-5) at a slope of 2
c) passes through (1,4) at a slope of -1
d) passes through (2,3) at a slope of —

e) passes through (2,1) and (4, 5)
f) passes through ( 0,5) and (3,2)
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4. Kendal Motors hires out vans.

MOTORS

TEDALL | 535 AN

Plus 20 cents per mile (including VAT)

Copy and complete the table where x is the number of miles travelled and C is the
total cost in pounds.

X 0 50 100 150 200 250 300

C 35 65 95

Draw a graph of € against x.

a) Use the graph to find the number of miles travelled when the total cost was
$71.

b) What is the formula connecting € and x?



Worksheet Maths 3™ ESO

SOLUTION
1. The graph shows a return journey by car from Leeds to Scarborough.
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a) How far is it from Leeds to York? 40 km
b) How far is it from York to Scarborough? 60 km
c) At which two places does the car stop? At York and Scarborough
d) How long does the car stop at Scarborough? 15 minutes
e) When does the car

i. arrive in York? At 11

ii. arrive back in Leeds? At 13:45
f) What is the speed of the car

iii. from Leeds to York? 40 km/h

iv. from York to Scarborough? 60 km/h

v. from Scarborough to Leeds? 100 km/h

2. Solve by graphing and using another method the simultaneous equation.

X-y=2
3x3y:2}—>y=x—2:>3x+x—2=2—>x=1—>y=1—2=—1

14
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xX-y=2 y=x-2 ’
3x+y=2|  |y=2-3x

MNJ

(1,-1)

3. Find the equation of the line which
a) passes through (0,7)ataslopeof 3->y—-7=3x >y=3x+7

b) passes through (2,-5) at aslope of 2>y +5=2(x-2) >y =2x-9
c) passes through (1,4)ataslope of -1>y-4=—(x-1)>y=-x+5

d) passes through (2,3) at a slope of %e y-3= —%(x —2)>y= —%x +1—31
e) passes through (2,1) and (4,5) - m = % =2

y-1=2(x-2)>y=2x-3

N

-5

f) passes through (0,5)and (3,2) > m = =-1

w
(@)

y-5=-1x-0)>y=-x+5

4. Kendal Motors hires out vans.

TEDALL | 535 AN

Plus 20 cents per mile (including VAT)

Copy and complete the table where x is the number of miles travelled and C is the
total cost in pounds.
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X 0 50 100 150 200 250 300
C 35 45 55 65 75 85 95
Draw a graph of € against x.
b
50 100 130 200 250 300

a) Use the graph to find the number of miles travelled when the total cost
was $71. 180 miles
b)  What is the formula connecting € and 22 y = 35 + 0.20x



